MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Rowlett Elementary School Sidewalk Phase VII, 9 th St. East to 15 th St. East, Bradenton, FL	DATE POSTED	MC 10 3 17 6.b. DS 10 3 17 6 b CC
 PURCHASING REPRESENTATIVE	Olga Valcich, CPPB Ext 3055	DATE CONTRACT SHALL BE AWARDED	Seven days after the date Posted
 DEPARTMENT	Public Works/ Anthony Benitez	CONSEQUENCES IF DEFERRED	Delay in project
SOLICITATION	IFB17-1358OV	AUTHORIZED BY DATE	Theresa Webb, CPPO, CPPB, CPSM, C.P.M. October 2017
	NOTICE OF INTE		

NOTICE OF INTENT TO AWARD

Notice of Intent to Award Invitation for Bid Rowlett Elementary School Sidewalk Phase VII, 9th St. East to 15th St. East, Bradenton, FL to the lowest, responsive and responsible bidder, Woodruff and Sons, Inc., Bradenton, FL for a total bid of \$800,364.06 based on a completion time of 180 calendar days.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

BACKGROUND/DISCUSSION

- The Work consists of the construction of utility adjustments associated with the 30th Avenue East Sidewalk Project from 9th to 15th Street. Work includes installation and relocation of water facilities, relocation and / or replacement of water and sewer services or portions thereof, and other utility work as may be required due to sidewalk and storm drain construction. Work is in accordance with Standard Specifications Division II and III of the Florida Department of Transportation and Manatee County Highway, Traffic Stormwater Standards along with Manatee County Utility Standards and Specifications dated June 2015.
- As a result of formal competitive sealed bid procedures, a total of four (4) bidders submitted a sealed bid for consideration.
 Please refer to the attached bid tabulation for the breakdown of the bids received.
- On September 5, 2017, a memorandum was received from Project Management recommending award to Woodruff and Sons, Inc., Bradenton, FL for a total bid of \$800,364.06.
- Budget Amendment B-17-076/2 has been submitted to FMD to be presented to the BCC on October 10, 2017 for the balance of required funds.

			Fundi Taxes	ing Sources: Gas s and Utility Rates
ATTACHMENTS (List in order of attached)	Department Recommendation	FUNDING SOURCE	53400 404-6 53400 0004,	6044160- 00/6044160-0004, 6044170- 00/6044170- 404-6044180- 00/6044180-0004
(List in order of attached)	Tabulation	(Acct Number & Name)	\boxtimes	Funds Verified
COST	\$800,364.06	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	N/A	

MEMORANDUM

To:

Purchasing

Jeff Streitmatter III, P.E., Project Management Div. Manager

September 5, 2017

Subject:

Rowlett Elementary Sidewalk - 30th Ave E from 9th St E to

15th St E

Woodruff & Sons, Inc.

Recommendation for Award - IFB#17-1358 OV

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid A, with a construction time of 180 calendar days be awarded to the lowest responsive, responsible bidder, Woodruff & Sons, Inc. in the amount of \$800,364.06 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding sources for this contract are Gas Taxes and Utility Rates. The Gas Taxes funding for this contract will cover Roadway subtotal of \$659,611.74 and 10% Contingency \$65,961.17 for a total of \$725,572.91. The Utility funding for this contract will cover Potable Water subtotal of \$38,635.38 with a 10% Contingency of \$3,863.54 for a total of \$42,498.92, and Sewer subtotal of \$29,356.57 with a 10% Contingency \$2,935.66 for a total of \$32,292.23.

Please contact Anthony Benitez, P. E., Project Engineer II if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/ab

Ron Schulhofer, Director, Public Works

Mike Gore, Director, Utilities

Sia Mollanazar, P.E., Deputy Director, Engineering Services Carmen Mosley, MA, Senior Fiscal Services Division Manager Anthony Benitez, P. E., Project Engineer II

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

Project File: 6044160 9.2

Public Works Department Project Management Division 1022 26th Avenue East, Bradenton, FL 34208-3926 Phone number: (941) 708-7450

MEMORANDUM

To:

Anthony Benitez, P.E., Project Engineer II

From:

Prony Bonnaire Fils, Ph.D., Engineering Specialist II

Date:

August 31, 2017

Subject:

Engineering Recommendation of Award IFB#17-1358OV

Rowlett Elementary Scholl Sidewalk Phase VII, 9th Street East to 15th Street East

(Project No. 323-6044160)

We recommend award of the project to Woodruff & Sons, Inc. for \$800,364.06 as the lowest responsive bid for Bid A. The Certified General Contractor and Certified Underground Utility and Excavation Contractor licenses are active per www.myfloridalicense.com. There were no complaints filed at the Better Business Bureau and given A+ rating. References were verified by staff with positive results.

FLORIDA CONTRACTOR LICENSE

Woodruff & Sons Inc. Certified General Contractor License # CGC026840 is active through 8/31/18.

Woodruff & Sons Inc. Certified Underground Utility and Excavation Contractor License # CUC032662 is active through 8/31/18.

REFERENCE CHECKS

Anthony Benitez, P.E., Manatee County, Public Works Department (941) 708-7480 Telephone interview by Prony Bonnaire Fils on 8/30/2017 Extremely satisfied with work and would recommend.

Alan Tusing, City of Palmetto (941) 723-4580 Telephone interview by Prony Bonnaire Fils on 8/30/2017 He was satisfied with work. He gave a favorable recommendation.

> Public Works Department Highway Engineering Division 1022 26th Avenue East, Bradenton, FL 34208 3926 Phone number: (941) 708-7450

SURETY CHECK

Surety's Name: Hartford Accident and Indemnity Company

Address: One Hartford Plaza, Hartford, CT 06155

Resident agent in Florida: Global American Solutions, LLC.

Address: 5095 1450 NW 57th Way Coral Springs, FL 33067 Phone: (754) 205-7290

> Public Works Department Highway Engineering Division 1022 26th Avenue East, Bradenton, FL 34208 3926 Phone number; (941) 708-7450

PRISCULIA TRACE: CHARLES B. SMITH: STEPHEN R. JONSSON: ROBIN DISABATING: VANESSA BAUGH: CAROL WHITMORE: BETSY BENAF District: District: 2 District: 3 District: District: 5 District: 6 District: 7

IFB #17-13580V ROWLETT ELEMENTARY SCHOOL SIDEWALK - PHASE VII 30TH AVENUE EAST FROM 9TH STREET EAST TO 15TH STREET EAST

						3		2		Ś		
Ham	FDOT Item	BID "A" 180 CALENDAR DAYS		P.O. Bradent (Mana	Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282 (Manates County)		Gator, Grading & Paving 2704 106th Street East Palmetto, FL 34221 (Manatee County)		C-Squared CGC, Inc. 3547 53rd Ave W, #327 Bradenton, FL 34210 (Manabe County)		efety Contractors Box 16628 pa, FL 33687 prough County)	
No.	No.	Description	U/M	City	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended	Unit Price	Extended Price
RO	ADWAY		, 11	240			A DOMESTIC	·			FILLER	Price
1	101-1	Mobilization	LS	1	\$60,407.77	\$60,407.77	\$37,000.00	\$37,000,00	\$48,775.25	\$48,775,25	£400.000.00	A
2	102-1-1	Maintenance of Traffic	LS	1	\$45,911,91	\$45,911,91	\$66,000.00	\$66,000.00	\$84,500.00		\$108,000.00	\$108,000.0
3	104-10-3	Sediment Barrier (Includes Silt Fence & Synthetic Bales)	LF	2.330	\$5.03	\$11,719,90	\$1.60	\$3,728.00	\$2.75	\$64,500.00	\$92,000.00	\$92,000.0
4	104-18	Inlet Protection System	EA	53	\$247.33	\$13,108,49	\$125.00	\$6,625,00	\$110.00	\$6,407.50	\$2.00	\$4,660.0
5	110-7-1	Mailbox, F&I single	EA	22	\$302,23	\$6,649,06	\$175.00	\$3,850.00		\$5,830.00	\$100.00	\$5,300.00
6	110-2-1	Clearing & Grubbing	AC	1.20	\$37,751,59	\$45,301,91	\$33,750.00	\$40,500.00	\$110.00	\$2,420.00	\$150.00	\$3,300.00
7	120-1	Regular Excavation	CCY	544	\$13.03	\$7,088.32	\$27.25	\$14,824,00	\$36,600.00	\$43,800.00	\$100,000.00	\$120,000.00
8	120-4	Subsoil Excavation	CY	500	\$13.03	\$6,515.00	\$56.10	\$14,024.00	\$20.00	\$10,880.00	\$41.00	\$22,304.00
8	120-6	Embankment (Regular)	CY	441	\$17.29	\$7,624.89	\$36.75	\$16,206.75	\$20.00	\$10,000.00	\$30.00	\$15,000.00
10	0327-7071	Milling existing Asphalt - 1" Average depth	SY	189	\$39.31	\$7,429.59	\$27,15	\$5,131.35	\$23.50	\$10,363.50	\$35.00	\$15,435.00
11	337-MC	1" Type S-III Asphalt	TN	11	\$401.51	\$4,416.61	\$390,00		\$66.50	\$12,568.50	\$60.00	\$11,340.00
12	425-MC	Grate Inlet	EA	13	\$2,348,30	\$30,527,90	\$2,325.00	\$4,290.00	\$365.00	\$4,015.00	\$720.00	\$7,920.00
13	425-MC	Drop Inlet	EA	15	\$3,246.00	\$48,690.00	\$3,025.00	\$30,225.00	\$3,150.00	\$40,950.00	\$3,600.00	\$46,800.00
14	425-MC	Curb Inlet	EA	13	\$3,808.79	\$49,514.27		\$45,375.00	\$3,450.00	\$51,750.00	\$4,300.00	\$64,500.00
15	425-MC	Junction Box Top to be adjusted	ĒΑ	1	\$1,858,79	\$1,858.79	\$3,650.00	\$47,450.00	\$3,450.00	\$44,850.00	\$4,700.00	\$61,100.00
16	425-MC	Inlets - Closed Fume - Modified	EA	6	\$3,188,81		\$3,550.00	\$3,550.00	\$5,500.00	\$5,500.00	\$2,100.00	\$2,100.00
17	425-14-89	Inlets Curb - Ditch Bot - Type J < 10' (4'x9') J Bot, Modified	EA	-,-	\$7,935.51	\$19,132.86	\$2,100.00	\$12,600.00	\$4,950.00	\$29,700.00	\$4,200.00	\$25,200.00
18	425-16-09	Inlets, Type J < 10 (6'x10') J Bot, Modified	EA			\$7,935.51	\$6,700.00	\$6,700.00	\$6,450.00	\$6,450.00	\$12,500.00	\$12,500.00
19	430-174-115	Pipe Culvert (RCP) (15")	LF	225	\$9,300.85 \$57.10	\$9,300.85	\$9,150.00	\$9,150.00	\$8,450.00	\$8,450.00	\$16,500.00	\$16,500.00
20		Pipe Culvert (ERCP) (12"x18")	LF	996		\$12,847.50	\$54.85	\$12,341.25	\$79.95	\$17,988.75	\$105.00	\$23,625.00
21		Pipe Culvert (ERCP) (14"x23")	LF	240	\$65.85	\$65,586.60	\$61.56	\$81,303.80	\$79.95	\$79,630.20	\$110.00	\$109,560.00
22	0515-1-2	Handrail (Aluminum)	LE		\$71.80	\$17,232.00	\$75.25	\$18,060,00	\$82.10	\$19,704.00	\$125.00	\$30,000.00
			LIF	30	\$94.60	\$2,838.00	\$160.50	\$4,815.00	\$110.00	\$3,300.00	\$120.00	\$3,600.00

	. <u> </u>							Ž		3		4
tem	FDOT Ital	BID "A" 180 CALENDAR DAYS			P.O. Bradent	Woodruff & Sone, Inc. P.O. Box 10127 Bradenton, FL 34282 (Manatee County)		Gator, Grading & Paving 2704 105th Street East Palmetto, FL 34221 (Manatee County)		C-Squared CGC, Inc. 3547 53rd Ave W, #327 Bradenton, FL 34210 (Manatee County)		ety Contractors Box 18628 J. FL 33687 Dugh County)
No.	FDOT Ites No.	Description	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
23	520-1-10	Type F Curb and Gutter	LF	1,549	\$27.03	\$41,869.47	\$25.25	\$39,112.25	\$18.50	\$28,656,50	\$24.00	\$37,176.0
24	520-MC	Miami Curb and Gutter	LF	565	\$25.33	\$14,311.45	\$23.30	\$13,164.50	\$16.50	\$9,322.50	\$24.00	\$13,560.
25	522-1	Concrete Sidewalk, 4" Thick	SY	1,900	\$36.92	\$70,148.00	\$36.85	\$70,015.00	\$32.50	\$61,750.00	\$43.00	\$81,700.
26	522-2	Concrete Driveway, 6" Thick	SY	608	\$50.96	\$30,983.68	\$52.55	\$31,950,40	\$61.50	\$37,392.00	\$68.00	\$41,344.
27	550-MC	Existing Fence to be Relocated or Reinstall New CLF	LF	297	\$8.83	\$2,622.51	\$23.50	\$6,979,50	\$35.50	\$10,543.50	\$27.00	\$8,019.
8.2	550-MC	Existing Fence to be Relocated or Reinstall New Wood Fence	LF	106	\$37.16	\$3,938.96	\$23.50	\$2,491.00	\$65,50	\$6,943.00	\$40.00	\$4,240
29	570-1-2	Performance Turf (Bahia Sod)	SY	1,963	\$3.26	\$6,399,38	\$3.25	\$6,379.75	\$4.10	\$8,048.30	\$4.00	\$7,852.
30	700-1-50	Single Post Sign, Relocate	AS	5	\$313.81	\$1,569.05	\$64.25	\$321,25	\$110.00	\$550.00	\$185.00	\$925.
11	711-11-111	Thermoplastic, Standard, White Solid, 6"	NM	0.37	\$12,753.23	\$4,718.70	\$8,475.00	\$3,135.75	\$3,650,00	\$1,350.50	\$8,500.00	
12	711-11-123	Thermoplastic, Standard, White Solid, 12"	LF	210	\$4.94	\$1,037,40	\$6.45	\$1,354.50	\$6.50	\$1,365.00	\$7,00	\$3,145. \$1,470.
33	711-11-125	Thermoplastic, Standard, White Solid, 24"	LF	31	\$12.11	\$375.41	\$12.85	\$398,35	\$8.50	\$263.50	\$14.00	
J.		ROADWAY SUBTOTAL				\$659,611,74		\$653,077,40	40.00	\$694,017,50	\$14.00	\$434.0
		ROADWAY CONTINGENCY (10% of above Roadway Items 1-33)				\$65,961.17		\$65,307.74		\$69,401.75		\$1,000,609.
		ROADWAY BASE BID				\$725,572.91		\$718,385.14		\$763,419.25		\$1,100,669.
/A1	TER		-0			III E VII						φ1,100 ₁ 008.1
4	U-1	Replace Water Service Line from Saddle to Meter Box	EA	1	\$1,264.07	\$1,264.07	\$2,750,00	\$2,750.00	\$3,850.00	\$3,850.00	\$1,900.00	
5	U-2	Adjust Meter Box to Finished Grade	EA	18	\$210.08	\$3,781,44	\$185.00	\$3,330,00	\$200.00	\$3,600.00		\$1,900.0
16	U-3	Replace Water Service Saddle	EA	1	\$1,264.07	\$1,264.07	\$805.00	\$805.00	\$3,150,00		\$100.00	\$1,800.0
7	U-4	Asphalt Road Restoration (Base & Resurface)	SY	140	\$43,74	\$6,123,60	\$63.25	\$8.855.00	\$59.95	\$3,150.00	\$1,500.00	\$1,500.0
8	U-5	Asphalt Road Restoration (Mill & Overlay)	SY	280	\$40.34	\$11,295,20	\$38.25	\$10,710.00		\$8,393.00	\$140.00	\$19,600.0
9	U-6	Replace existing Meter Box	EA	5	\$344.49	\$1,722,45	\$205.00	\$1,025.00	\$63.10	\$17,568.00	\$65.00	\$18,200.0
0	U-7	Relocate Waterline 6" & 4" dia. DI CL 350 - Include Fittings and Restraints	LF	45	\$292.99	\$13,184.55	\$175.00		\$450.00	\$2,250.00	\$200.00	\$1,000.6
		WATER SUBTOTAL			\$252.00°	\$38,635,38	\$175.00	\$7,875.00	\$210.75	\$9,483.75	\$450.00	\$20,250.0
		WATER CONTINGENCY (40% -4-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-						\$35,350.00		\$48,394.75		\$64,250.0
		WATER CONTINGENCY (10% of above Water Items 34-40)	111			\$3,863.54		\$3,535.00		\$4,839.48		\$6,425.0
		WATER BASE BID				\$42,498.92		\$38,885,00		\$53,234,23		\$70,675.0

						1		2		3		
	BID "A" 180 CALENDAR DAYS				P.O. I Bradent	f & Sons, Inc. Box 10127 on, FL 34282 tee County)	Getor, Grading & Paving 2704 108th Street East Pelmetto, FL 34221 (Manatee County)		C-Squared CGC, inc. 3547 53rd Ava W, #327 Bradenton, FL 34210 (Manates County)		Florids Safety Contractors P.O. Box 16628 Tampa, FL 33667 (Hillaborough County)	
tem FC No.	DOT Its	Description	U/M	Qtv	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit	Extended
SEWE	ER							11100	FILE	FIG	Prope	Price
41	U-8	Relocate Force Main 6" PVC DR 18 - Include DI Fittings and Restraints	LF	120	\$81.47	\$9,776.40	\$88.90	\$10,688.00	\$89.95	\$10,794,00	\$160.00	\$19,200,0
42	U-9	Adjust/Relocate Sewer Cleanout (Vertical and/or Horizontal up to 6 LF)	EA	18	\$680.65	\$12,251,70	\$2,045,00	\$36,810,00	\$2,650.00	\$47,700.00	\$1,200.00	\$21,600.00
43	U-10	Install Sewer Cleanout Casting Ring & Cover	EA	5	\$803.47	\$4,017.35	\$550.00	\$2,750.00	\$450.00	\$2,250.00	\$450.00	\$2,250.00
44	U-11	Relocate Sewer Service 6" PVC, up to 45 LF, Complete	EA	2	\$1,655.56	\$3,311.12	\$1,775,00	\$3,550.00	\$3,685,00	\$7,370.00	\$2,000.00	\$4,000.00
		SEWER SUBTOTAL		1 40		\$29,356.57		\$53,778.00	40,000.02	\$68,114,00	92,000,00	\$47,050.00
		SEWER CONTINGENCY (10% of above Sewer Items 41-44)	B. 3			\$2,935.66		\$5,377.80		\$6,811.40	GE NI	\$4,705.0
		SEWER BASE BID			Emig	\$32,292.23		\$59,155.80		\$74,925.40		\$51,755,0
	125										er III	HATTER
		BID "A" TOTAL BID (ROADWAY, WATER & SEWER)				\$727,603.69		\$742,205.40		\$810,526.25		\$1,111,909.00
		TOTAL CONTINGENCIES (to be utilized only with County Approval) - ROADWAY, WATER & SEWER				\$72,760.37		\$74,220.54		\$81,052.63		\$111,190.90
		TOTAL OFFER FOR BID "A" (including Contingencies) FOR ROADWAY, WATER & SEWER BASED ON A 180 CALENDAR DAY COMPLETION TIME				\$800,364.06		\$816,425.94		\$891,578.88		\$1,223,099.90

BID TABULATION

FOR

IFB #17-1358OV

ROWLETT ELEMENTARY SCHOOL SIDEWALK - PHASE VII 9TH STREET EAST TO 15TH STREET EAST

BID "A" BASED ON A COMPLETION TIME OF 180 CALENDAR DAYS

PREPARED BY: (Project Management)	Sherri Robinson, Project Manager	8/29/19 Date
REVIEWED BY: (Project Engineer)	Prony Bonnaire Fils, Phd, Engineer Specialist III	3/31/17 Date
REVIEWED BY: (Project Engineer)	Anthony Benitez, P.E., Project Engineer II	8/30 17 Date
APPROVED BY: (Purchasing)	Olga Valcion, Construction Buyer	9-1-17 Date

IFB #17-1358OV ROWLETT ELEMENTARY SCHOOL SIDEWALK - PHASE VII 30TH AVENUE EAST FROM 9TH STREET EAST TO 15TH STREET EAST

								2		3		4
		BID "B" 240 CALENDAR DAYS			Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282 (Manatee County)		Gator, Grading & Paving 2704 105th Street East Palmetto, FL 34221 (Manatee County)		C-Squared CGC, Inc. 3547 53rd Ave W, #327 Bradenton, FL 34210 (Manatee County)		Florida Safety Contracto P.O. Box 16628 Tampa, FL 33687 (Hillaborough County)	
No.	FDOT Item No.	Description	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
RO/	ADWAY	DITALITY STORY		-411					7-14-11		FILE	Price
1	101-1	Mobilization	LS	1	\$60,407.77	\$60,407,77	\$37,000.00	\$37,000,00	\$48,775.25	\$48,775,25	\$108,000.00	\$108,000.0
2	102-1-1	Maintenance of Traffic	LS	1	\$45,911.91	\$45,911.91	\$66,000.00	\$66,000,00	\$64,500.00	\$64,500.00	\$92,000.00	\$92,000.0
3	104-10-3	Sediment Barrier (Includes Silt Fence & Synthetic Bales)	LF	2,330	\$5.03	\$11,719.90	\$1.60	\$3,728.00	\$2.75	\$8,407,50	\$2,00	\$4,660.0
4	104-18	Inlet Protection System	EA	53	\$247.33	\$13,108.49	\$125.00	\$6,625,00	\$110.00	\$5,830.00	\$100.00	\$5,300.0
5	110-7-1	Mailbox, F&I single	EA	22	\$302.23	\$8,649.06	\$175.00	\$3,850.00	\$110.00	\$2,420.00	\$150.00	\$3,300.0
6	110-2-1	Clearing & Grubbing	AC	1.20	\$37,751.59	\$45,301.91	\$33,750.00	\$40,500.00	\$36,500.00	\$43,800.00	\$100,000.00	\$120,000.0
7	120-1	Regular Excavation	CCY	544	\$13.03	\$7,088.32	\$27.25	\$14,824.00	\$20.00	\$10,880.00	\$41.00	\$22,304.0
8	120-4	Subsoil Excavation	CY	500	\$13.03	\$6,515.00	\$56.10	\$28,050,00	\$20.00	\$10,000.00	\$30.00	\$15,000.0
9	120-6	Embankment (Regular)	CY	441	\$17.29	\$7,624.89	\$36.75	\$16,206.75	\$23.50	\$10,363,50	\$35.00	\$15,435.0
10	0327-7071	Milling existing Asphalt - 1" Average depth	SY	169	\$39.31	\$7,429.59	\$27.15	\$5,131,35	\$66.50	\$12,568,50	\$60.00	\$11,340.0
11	337-MC	1" Type S-III Asphalt	TN	11	\$401.51	\$4,416.61	\$390.00	\$4,290.00	\$365.00	\$4,015.00	\$720.00	\$7,920.0
12	425-MC	Grate Inlet	EA	13	\$2,348.30	\$30,527.90	\$2,325.00	\$30,225.00	\$3,150.00	\$40,950.00	\$3,600.00	\$46,800.0
13	425-MC	Drop Inlet	EA	15	\$3,246.00	\$48,690.00	\$3,025.00	\$45,375,00	\$3,450.00	\$51,750.00	\$4,300,00	\$64,500.0
14	425-MC	Curb Inlet	EA	13	\$3,808.79	\$49,514.27	\$3,650.00	\$47,450.00	\$3,450.00	\$44,850.00	\$4,700.00	\$61,100.0
15	425-MC	Junction Box Top to be adjusted	EA	1	\$1,858.79	\$1,858.79	\$3,550.00	\$3,550.00	\$5,500.00	\$5,500.00	\$2,100.00	\$2,100.0
16	425-MC	Inlets - Closed Fume - Modified	EA	6	\$3,188.81	\$19,132.86	\$2,100.00	\$12,600.00	\$4,950,00	\$29,700.00	\$4,200.00	\$25,200.0
17	425-14-89	Inlets Curb - Ditch Bot - Type J < 10' (4'x9') J Bot, Modified	EA	1	\$7,935.51	\$7,935.51	\$6,700.00	\$6,700.00	\$6,450,00	\$6,450.00	\$12,500.00	\$12,500.0
18	425-16-09	Inlets, Type J < 10 (6'x10') J Bot, Modified	EA	1	\$9,300.85	\$9,300.85	\$9,150.00	\$9,150,00	\$8,450,00	\$8,450.00	\$16,500.00	\$18,500.0
19	430-174-115	Pipe Culvert (RCP) (15")	LF	225	\$57.10	\$12,847.50	\$54.85	\$12,341,25	\$79.95	\$17,988.75	\$105.00	\$23,625.0
20	430-174-215	Pipe Culvert (ERCP) (12"x18")	LF	996	\$65.85	\$65,586.60	\$61.55	\$61,303,80	\$79.95	\$79,630,20	\$110.00	\$109,560.0
21	430-174-201	Plpe Culvert (ERCP) (14"x23")	LF	240	\$71.80	\$17,232.00	\$75.25	\$18,060,00	\$82.10	\$19,704.00	\$125.00	\$30,000.0
22	0515-1-2	Handrail (Aluminum)	LF	30	\$94.60	\$2,838.00	\$160.50	\$4,815,00	\$110,00	\$3,300,00	\$120.00	\$3,600.00

8/31/2017

	==		<u> </u>			1		2		3		4
		BID "B" 240 CALENDAR DAYS		Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282 (Manatee County)			Gator, Grading & Paving 2704 108th Street East Palmetto, FL 34221 (Manatee County)		C-Squared CGC, Inc. 3547 53rd Ave W, #327 Bradenton, FL 34210 (Menatee County)		Florida Safety Contractors P.O. Box 16628 Tampa, FL 33687 (Hillsborough County)	
tem No.	FDOT Ite	n Description	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit	Extended Price	Unit	Extended
23	520-1-10	Type F Curb and Gutter	LF	1,549	\$27.03	\$41,869.47	\$25.25	\$39,112,25	\$18.50		Price \$24.00	Price \$37,176.0
24	520-MC	Miami Curb and Gutter	LF	565	\$25.33	\$14,311.45	\$23.30	\$13,164,50	\$16.50	\$9,322.50	\$24.00	\$13,560,0
25	522-1	Concrete Sidewalk, 4" Thick	SY	1,900	\$36.92	\$70,148.00	\$36.85	\$70,015,00	\$32.50	\$61,750.00	\$43.CO	
26	522-2	Concrete Driveway, 6" Thick	SY	608	\$50.96	\$30,983.68	\$52.65	\$31,950,40	\$61.50	\$37,392.00	\$68.00	\$81,700.00 \$41,344.00
27	550-MC	Existing Fence to be Relocated or Reinstall New CLF	LF	297	\$8.83	\$2,622.51	\$23,50	\$6,979.50	\$35.50	\$10,543.50	\$27.00	
28	550-MC	Existing Fence to be Relocated or Reinstall New Wood Fence	LF	106	\$37.16	\$3,938.98	\$23.50	\$2,491.00	\$65.50	\$8,943.00	\$40.00	\$8,019.00
29	570-1-2	Performance Turf (Bahia Sod)	SY	1,963	\$3.26	\$6,399.38	\$3,25	\$6,379.75	\$4.10	58,048.30	\$4.00	\$7,852.00
30	700-1-50	Single Post Sign, Relocate	AS	5	\$313.81	\$1,569.05	\$64.25	\$321,25	\$110.00	\$550.00	\$185.00	\$925.00
31	711-11-111	Thermoplastic, Standard, White Solid, 6"	NM	0.37	\$12,753.23	\$4,718.70	\$8,475.00	\$3,135.75	\$3,650.00	\$1,350.50	\$8,500.00	
32	711-11-123	Thermoplastic, Standard, White Solid, 12"	LF	210	\$4.94	\$1,037,40	\$6.45	\$1,354.50	\$6.50	\$1,365,00	\$7.00	\$3,145,00
33	711-11-125	Thermoplastic, Standard, White Solld, 24"	LF	31	\$12.11	\$375.41	\$12.85	\$398.35	\$8.50	\$263.50	\$14.00	\$1,470.00
		ROADWAY SUBTOTAL				\$659,611,74		\$653,077,40	40.00	\$694,017,50	314.00	\$434.00
		ROADWAY CONTINGENCY (10% of above Roadway Items 1-33)				\$65,961.17		\$65,307.74		\$69,401,75		\$1,000,609.00
4		ROADWAY BASE BID		IIII		\$725,572.91		\$718,385.14		\$763,419,25		\$1,100,669.90
NAT	ER			14						0100,410,20		\$1,100,009.30
34	U-1	Replace Water Service Line from Saddle to Meter Box	EA	1	\$1,264,07	\$1,264.07	\$2,750.00	\$2,750.00	\$3,850.00	\$3,850,00	64 505 55	
35	U-2	Adjust Meter Box to Finished Grade	EA	18	\$210.08	\$3,781.44	\$185.00	\$3,330.00	\$200.00	\$3,600.00	\$1,900.00	\$1,900.00
36	U-3	Replace Water Service Saddle	EA	1	\$1,264,07	\$1,264,07	\$805.00	\$805.00	\$3,150.00		\$100.00	\$1,800.00
37	U-4	Asphalt Road Restoration (Base & Resurface)	SY	140	\$43.74	\$6,123.60	\$63.25	\$8.855.00	\$59.95	\$3,150.00 \$8,393.00	\$1,500.00	\$1,500.00
38	U-5	Asphalt Road Restoration (Mill & Overlay)	SY	280	\$40.34	\$11,295,20	\$38,25	\$10,710.00	\$63.10	\$17,668.00	\$140.00	\$19,600.00
39	U-6	Replace existing Meter Box	EA	5	\$344,49	\$1,722,45	\$205.00	\$1,025.00	\$450.00	\$2,250.00	\$65.00	\$18,200.00
40	U-7	Relocate Waterline 6" & 4" dia. DI CL 350 - Include Fittings and Restraints	LF	45	\$292.99	\$13,184,55	\$175.00	\$7,875.00	\$210.75	\$9,483.75	\$200.00	\$1,000.00
		WATER SUBTOTAL	119		T V	\$38,635,38		\$35,350,00	WZ 10.75	\$48,394,75	\$450.00	\$20,250.00
		WATER CONTINGENCY (10% of above Water Items 34-40)				\$3,863.54	0.511	\$3,535.00		\$4,839.48		\$64,250.00 \$6,425.00
		WATER BASE BID				\$42,498,92		\$38,885,00		\$53,234.23		

			<u>:-:</u>		W	1		2		3		4
		BID "B" 240 CALENDAR DAYS			Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282 (Manates County)		Gator, Grading & Paving 2704 105th Street East Palmetto, FL 34221 (Manates County)		C-Squared CGC, Inc. 3547 53rd Ave W, #327 Bradenton, FL 34210 (Manstee County)		Florida Safety Contractors P.O. Box 16626 Tampa, FL 33687 (Hillsborough County)	
No.	No.	Pescription	UM	Qty	Unit Price	Extended Price	Unit	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
SEWE	ER		93				7					
41	U-8	Relocate Force Main 6" PVC DR 18 - Include DI Fittings and Restraints	LF	120	\$81.47	\$9,776.40	\$88.90	\$10,668.00	\$89.95	\$10,794.00	\$160.00	\$19,200.00
42	U-9	Adjust/Relocate Sewer Cleanout (Vertical and/or Horizontal up to 6 LF)	EA	18	\$680.65	\$12,251.70	\$2,045.00	\$36,810.00	\$2,650.00	\$47,700.00	\$1,200.00	\$21,600.00
43	U-10	Install Sewer Cleanout Casting Ring & Cover	EA	5	\$803.47	\$4,017.35	\$550.00	\$2,750.00	\$450.00	\$2,250.00	\$450.00	\$2,250.00
44	U-11	Relocate Sewer Service 6" PVC, up to 45 LF, Complete	EA	2	\$1,655.56	\$3,311.12	\$1,775.00	\$3,550.00	\$3,685.00	\$7,370.00	\$2,000.00	\$4,000.00
		SEWER SUBTOTAL				\$29,356.57		\$63,778.00		\$68,114.00	255	\$47,050.00
		SEWER CONTINGENCY (10% of above Sewer Items 41-44)				\$2,935.66	- T- T-	\$5,377.80		\$6,811.40		\$4,705.00
		SEWER BASE BID	120			\$32,292.23		\$59,155.80		\$74,925.40		\$51,755.00
										Thelis		
		BID "B" TOTAL BID (ROADWAY, WATER & SEWER)	I/E			\$727,603.69	ð fil	\$742,205.40		\$810,526.25		\$1,111,909.00
		TOTAL CONTINGENCIES (to be utilized only with County Approval) - ROADWAY, WATER & SEWER	H			\$72,760.37		\$74,220.54		\$81,052.63		\$111,190.90
		TOTAL OFFER FOR BID "B" (Including Contingencies) FOR ROADWAY, WATER & SEWER BASED ON A 240 CALENDAR DAY COMPLETION TIME				\$800,364.06		\$816,425.94		\$891,578.88		\$1,223,099.90

BID TABULATION

FOR

IFB #17-1358OV

ROWLETT ELEMENTARY SCHOOL SIDEWALK - PHASE VII 9TH STREET EAST TO 15TH STREET EAST

BID "B" BASED ON A COMPLETION TIME OF 210 CALENDAR DAYS

PREPARED BY: (Project Management)	Sherri Robinson, Project Manager	8/29/17 Date
REVIEWED BY: (Project Engineer)	Prony/BonnaireFils, Phd, Engineer Specialist III	8/31/20/7 Date
REVIEWED BY: (Project Engineer)	Anthony Benitez, P.E., Project Engineer II	8 30 17 Date
APPROVED BY: (Purchasing)	Olga Valcich, Construction Buyer	9-/-/7 Date